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Tomorrow
Turn in the 2nd HW Packet

Quiz on Sequences & Exponential
Functions

@ Last week we learned to create an exponential function in the form y=ab*

using the "Double Substitution Method". Use it now to find the exponential function
that passes through the two points (2, 12) and (5, 187.5)

(1 ) (5,%%5)
%X) %x
U= ab Y= ab
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Compound Interest Formula:

Future Value = PV(1 + i)kt

where PV =Present Value

t =number of years $ is being invested
k =# times per year interest is compounded

@ Find the future value of an 8 year investment of $4500 that pays an annual
interest of 4.25%, compounded once once a year.

@ Find the future value of an 8 year investment of $4500 that pays an annual
interest of 4.25%, compounded once TWICE a year.

T
Future Value = PV (1 + E)kt
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remember that all common factors have to
pulled out first in order to use the box method.
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@ Solve_

() = 4

Sn)

The 2nd Homework Packet is due
tomorrow. Stiff penalty if late.
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Assignment

\2-!... 16, 17, 18ab, 19-20, 21¢

Tomorrow you will turn in the HW Packet
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